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Part A: Grammar 
 

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3), and (4). 
Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 

 

1- Supposing you … the train, what would you have done? 
1) had missed 2) missed 3) would miss 4) will miss 

2- If you … in an application form, you … to do so before you can be considered for the job. 
1) don’t fill/ would need  2) hadn’t filled/ will need 
3) hadn’t filled/ would have needed 4) haven’t filled/ will need 

3- I wrote down her address in case I … it.  
1) will forget 2) should forget 3) had forgotten 4) would have forgotten 

4- If you … last night when we arrived, I would have asked you to go with us. 
1) didn’t sleep  2) hadn’t slept  
3) hadn’t been sleeping  4) wouldn’t be sleeping 

5- If someone had called the fire station immediately, the tragedy … avoided.   
1) should have been  2) might have been 
3) might have    4) would be 

6- Air pollution levels … dramatically if all cars … to liquefied petroleum gas. 
1) had fallen / would switch  2) fell / were to switch 
3) would fall / were to switch 4) will fall / switched 

7- I wouldn’t work for them even if they … me twice my current salary. 
1) pay 2) had paid 3) paid 4) would have paid 

8- “He won’t take part in our project, unless he is paid well.” This sentence can be rewritten as: 
1) Provided that he is paid well, he will not take part in our project. 
2) As long as he is not paid well, he will not take part in our project. 
3) Should he be paid well, he won’t take part in our project. 
4) He won’t take part in our project, otherwise he is paid well. 

9- If the roads haven’t changed in that part of the town, I’m sure I’ll be able to find my way there. In other 
words, … the roads have changed in that part of the town, I’m sure I … able to find my way there. 

1) as long as / would not be  2) unless / won’t be 
3) as long as / will be  4) unless / will be 

10- “Why didn’t she buy that large flat?”  
“I think … . ” 
1) she would have bought it if it hadn’t been so expensive 
2) she would buy it if it weren’t so expensive 
3) if it isn’t so expensive, she’ll buy it  
4) if it hadn’t been so expensive, she would buy it  

Part B: Vocabulary 
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3) and (4). 
Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 

 
11- In this training class, the new managers are taught how to … the business affairs that they face. 

1) instruct 2) include 3) contain 4) handle 
12- The whole pages of today’s paper are … to reporting the result of the yesterday’s event in an American 

university in Virginia. 
1) recycled 2) released  3) devoted 4) attached 

زبان انگليسي  تخصصي 

 سؤال از سؤالات گرامر مربوط به مباحث آزمون قبل مي باشد كه در سؤالات گرامر گنجانده شده است. 3دانش آموزان عزيز 
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13- Sending children to expensive schools is increasing the … of living for the family.  
1) average 2) cost 3) activity 4) price  

14- A … number of girl students are willing to continue their studies up to higher levels. 
1) scientific 2) growing  3) frequent 4) subordinate 

15- When preparing meals, you need to consider …, taste as well as nutritional value. 
1) variety 2) density  3) capacity  4) advisability 

16- The doctor warned her that a proper diet was of great … in the affecting of a cure. 
1) performance 2) experience   3) significance  4) reference  

17- The main responsibility of the project is to ensure the smooth … of the factory. 
1) training 2) running  3) expression  4) definition  

18- In Iran, university students are chosen on the … of the Entrance Exam held every year. 
1) scene 2) role  3) fact  4) basis  

19- They … the “no parking” sign and were fined by the police. 
1) noticed 2) observed  3) raised  4) ignored  

20- We insist that father change his old car, but he has got so … to his old one that he wouldn’t part with it. 
1) interested  2) pleased  3) afraid  4) attached  

21- In case you remain quiet, your friends will consider it as a … that you agree with the suggestion. 
1) pattern 2) sample  3) signal  4) choice 

22- All the money collected will be spent on … performance especially in rural areas.  
1) diversify 2) charity  3) activity  4) density  

23- It is surprising that an enormous amount of money has been … to this project. 
1) spent 2) allocated 3) passed  4) crossed 

24- The scientists have … hope that they can find another source of energy instead of fossil fuel. 
1) argued 2) concerned  3) expressed  4) continued 

25- The number of women who shows willingness to … in social activities is rising continuously. 
1) take place 2) take part  3) take care  4) take off  
 

Part C: Word Order 
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer sheet. 

 

26- 1) In 1736 , the number of poor people in Boston receiving public assistance was about 4000 . 
2) In 1736, the number of poverty people in Boston who were received public assistance was about 4000. 
3) In 1736, the number of poor people in Boston who were received public assistance were about 4000. 
4) In 1736, the number of poverty people in Boston receiving public assistance were about 4000. 

27- 1) The oldest tree in this part is the ash tree, which it is thousands of years old. 
2) The oldest tree in this area is ash tree, its age thousands of years old. 
3) The oldest tree in this area is ash tree, which it may be thousands of years old. 
4) The oldest tree in this part of the country is the ash tree, which may be thousands of years old. 

28- 1) Science fiction is any subject deals with the future or with so imaginative subjects as interstellar travel, life on other 
planets, or time travel. 

2) Science fiction is any subject dealing with the future or with such imaginative subjects as interstellar travel, life on 
other planets, or time travel. 

3) Science fiction is any subject which deals with the future or with so imaginative subjects as interstellar travel, life 
on other planets, or time travel. 

4) Science fiction is any subject dealt with the future or with too imaginative subjects as interstellar travel, life on other 
planets, or time travel. 
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29- 1) You had better leave early so that you wouldn’t get stuck in the traffic. 
2) You had better to leave early so that you won’t get stuck in the traffic. 
3) You had better leave early so that you won’t get stuck in the traffic. 
4) You had better leaving early so that you wouldn’t get stuck in the traffic. 

30- 1) She owns many beautiful Persian rugs, the least expensive of which is worth a small fortune. 
2) She owns many beautiful Persian rugs, whose least expensive is worth a small fortune.    
3) She owns many Persian beautiful rugs, whose least expensive has worth a small fortune. 
4) She owns many Persian beautiful rugs, the least expensive of which has worth a small fortune.   
 

Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing one of 
the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet. 

 

Justin: Bruce, have you read this story about more corporal punishment in boys’ schools? 
Bruce: Yes, …31… ? 
Justin: I’m shocked and disgusted. 
Bruce: …32…? 
Justin: I think …33… young boys and calling it “discipline”. Young people need care and encouragement from 
their teachers. 
31- 1) how do you feel  2) why do you think  

3) what does it mean  4) which do you mean 
32- 1) Who said it 2) Why do you say that  3) How is it like 4) Where have you heard of it 
33- 1) it’s just mistreating  2) it’s rarely mistreating 

3) it’s less taking care of  4) it’s losing control over 
John: What is an appropriate gift to take to some friends who have invited you to their house for dinner? I was 
thinking maybe some candy. 
Amy: …34… . Or you could get a bunch of flowers. 
34- 1) It’s obvious 2) Don’t mention it 3) I don’t care 4) That sounds good 
A: What do you think of the US present financial state? 
B: I don’t want to be a pessimist, but after the financial crisis and by having such a deceitful government, it 
seems to be …35….  . 
35- 1) over the moon 2) in the loop 3) beyond hope 4) right down his alley 
A: Our boss caught some employees cheating at work and fired them right then and there. 
B: …36….  ! People behave the way their political heads do but nobody has the power to expel the US corrupted 
politicians. 
36- 1) It isn’t strange 2) It beats me 3) Just my luck 4) Seize the day 
A: We …37… our project today. 
B: You did? I haven’t taken even a look at it. 
A: You’d better start working. It …38… in a week. 
B: Come on! I give no damns to such stupid things. 
37- 1) turned in 2) dealt with 3) handed out 4) brought up 
38- 1) is out of action 2) is due 3) is in the clear 4) is on edge 
A: You have to promise to …39… . I just found out they themselves selected the next US president without 
considering our votes, but it won’t be announced until tomorrow.  
B: Don’t worry. I won’t …40… . 
39- 1) come true 2) play with fire 3) never say die 4) keep this to yourself 
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40- 1) bear you out 2) cut corners 3) see red 4) spill the beans  
 

Part E: Cloze Test 
Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice on your 
answer sheet. 

 

To many people, the word “geology” conjures up rather dull images of lumps of rock in glass cases. People 
(41) … to regard geology as an academic subject that you don’t need to know about (42) … you have to study it at 
school. If you (43) … the Earth Galleries at London’s Natural History Museum, (44) …, you’ll discover that this 
image couldn’t be (45) … from the truth.  

The (46) … of the exhibition is not to dishearten future geologists, but (47) … to inspire interest in a subject 
(48) … is relevant to everyday life. The Earth Galleries turn the traditional idea of geological museum (49) …, 
literally because you begin at the top. The central space in the museum is a glass-topped atrium. As you enter, you 
(50) … up to the top of this by escalator. On the way, the escalator passed through a massive revolving globe, (51) 
… eleven metres in diameter. This represents a planet, not necessarily the Earth. (52) … at the top, you work 
your way down through the six different exhibitions that (53) … the museum.  

The individual exhibitions explain natural phenomena (54) … earthquakes and volcanoes as well as looking at 
the Earth’s energy resources and where our (55) … building materials come from. These exhibitions allow 
everyone to appreciate the fascination of geology. 
41- 1) pick 2) know 3) bound 4) tend 
42- 1) despite 2) owing  3) unless 4) whether 
43- 1) will visit 2) visit 3) visited 4) would visit 
44- 1) however 2) while 3) although 4) whereas 
45- 1) further 2) greater 3) wider 4) nearer 
46- 1) ambition 2) aim 3) reason 4) topic 
47- 1) therefore 2) as well as 3) regardless of 4) rather 
48- 1) where 2) what 3) which 4) when 
49- 1) head to toe 2) inside out 3) back to front 4) upside down 
50- 1) drive 2) ride 3) run 4) steer 
51- 1) by measuring 2) measuring 3) measure 4) is measuring 
52- 1) From 2) During 3) Once 4) Yet 
53- 1) consist of 2) make up 3) bring together 4) show off 
54- 1) not only 2) such as 3) so that 4) included 
55- 1) the commonest 2) commoner 3) more common 4) most common 

 
 

Part F: Reading Comprehension  
Directions: In this part of the test, you will read two passages. Answer the questions about the passages by choosing the best choice (1,2,3) or 

(4). Then mark the correct choice on your answer sheet. 
 
 

PASSAGE 1 
Louise Nevelson is generally regarded as the first person to practice environmental sculpture in the United 

States as well as being one of the most forceful, original, and colorful figures in UcontemporaryU art. She studied 
painting and drawing as a young woman and was strongly influenced by a number of European artists, but the 
turning point in her life occurred when she began to create sculptures. 

She created a range of sculptures in different styles in the 1940 s. In the 1950 s, her mature style started to 
evolve and her assemblage style took shape; she assembled individual boxes made of discarded wooden objects 
that she gathered in her walks around New York City, painted a uniform color, and manipulated in various 
combinations. Almost all of these works were related to each other thematically although each piece in the 
complete work could be enjoyed individually. 
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Nevelson used boxes in her works of the late 1950 s and 1960 s. She assembled a number of boxes, which were 
often painted black, to form an entire wall; her 1962  sculpture Totality Dark is an example of this approach. In 
the 1960 s, Nevelson’s reputation grew steadily. In this period, her walls became more ambitious in scale, 
achieving a serene and majestic presence. In some of her large sculptures of the 1970 s, Nevelson created a more 
open form; a 1975  piece, Bicentennial Dawn, evokes by analogy with the varied high-rise buildings of Manhattan. 
These environmental sculptures were created expressly to be outside and to interact with their surroundings. 
Whether her pieces are set up temporarily in Central Park or permanently on Park Avenue, UtheyU look thoroughly 
at home in the urban environment. 

When she visited her friend, the famous painter Georgia O’Keefe, at her home in the mountains of New 
Mexico, Nevelson said, “The mountains are her landscape. Well, New York City is mine.” 
56- According to the passage, what characterized Louise Nevelson’s technique in the 1950 s? 

1) She used things that she found.  2) She used various colors to paint each object.  
3) She created works to be exhibited outside. 4) She created a range of styles. 

57- Which of the following is true about Totality Dark? 
1) It consists of a single black box. 2) It was influenced by European artists.  
3) It is a small, intimate sculpture. 4) It is a wall that is painted black. 

58- The underlined pronoun “they” in line 16  refers to … . 
1) high-rise buildings  2) Central Park and Park Avenue 
3) surroundings  4) pieces 

59- The underlined word “contemporary” in line 2 is closest in meaning to … .  
1) artificial 2) ancient 3) real 4) modern 

60- The author mentions Central Park because … . 
1) Nevelson’s environmental sculptures are sometimes there 
2) it is the subject of one of Nevelson’s sculptures  
3) there is a permanent Nevelson exhibition there 
4) it is not part of an urban environment 

PASSAGE 2 
Few men have influenced the development of American English to the extent that Noah Webster did. Born in 

West Hartford, Connecticut, in 1758 , Webster graduated from Yale in 1778 . He was admitted to the bar in 1781  
and thereafter began to work as a lawyer in Hartford. Later, when he turned to teaching, he discovered how 
inadequate the available schoolbooks were for children of a new and independent nation. In response to the need 
for truly American textbooks, Webster published A Grammatical Institute of the English Language, a three-
volume work that consisted of a speller, a grammar, and a reader. The first volume, which was generally known 
as the American Spelling Book, was so popular that eventually it sold more than 80 million copies and provided 
him with a considerable income for the rest of his life. While teaching, Webster began working on the 
Compendious Dictionary of the English Language, which was published in 1806 , and was also very successful. 

In 1807 , Noah Webster began his greatest work, An American Dictionary of the English Language. In 
preparing the manuscript, he devoted ten years to the study of English and its relationship to other languages, and 
seven more years to the writing itself. Published in two volumes in 1828 , An American Dictionary of the English 
Language has become the recognized authority for usage in the United States. Webster’s purpose in writing UitU was 
to demonstrate that the American language was developing UdistinctU meanings, pronunciations, and spelling from 
those of British English. He is responsible for advancing simplified spelling forms; develop instead of develope, 
plow instead of plough, jail instead of gaol, and color instead of colour. 

Webster was the first author to gain copyright protection in the United States by being awarded a copyright 
for his American Speller. He continued, for the next fifty years, to lobby for improvements in the protection of 
intellectual properties, that is, the author’s rights. In 1840 , Webster brought out the second edition of his 
dictionary, which included 70,000  entries instead of the original 38,000 . The name Webster has become 
synonymous with American dictionaries. This edition served as the basis for the many revisions that have been 
produced by others, ironically, under the uncopyrighted Webster name. 
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61- Which of the following would be the best title for the passage? 
1) Webster’s Family  2) Webster’s Copyright 
3) Webster’s School  4) Webster’s Life 
 

62- Why did Webster write A Grammatical Institute of the English Language? 
1) He wanted to supplement his income. 
2) There were no books available after the Revolutionary War. 
3) He felt that British books were not appropriate for American children. 
4) The children did not know how to spell. 

63- From which publication did Webster earn a lifetime income? 
1) The Compendious Dictionary of the English Language 
2) An American Dictionary of the English Language 
3) An American Dictionary of the English Language; Second Edition 
4) The American Spelling Book 

64- The underlined pronoun “it” in paragraph 2 refers to … . 
1) language  2) usage 3) authority 4) dictionary 

65- The underlined word “distinct” in paragraph 2 is closest in meaning to … . 
1) new 2) simple 3) different 4) exact 

PASSAGE 3 
Galaxies are the major building blocks of the universe. A galaxy is a giant family of many millions of stars, and 

it is held together by its own gravitational field. Most of the materials in the universe is organized into galaxies of 
stars, together with gas and dust. 

There are three main types of galaxies: spiral, elliptical, and irregular. The Milky Way is a spiral galaxy: a flat 
disk of stars with two spiral arms emerging from its central nucleus. About one quarter of all galaxies have this 
shape. Spiral galaxies are well supplied with the interstellar gas in which new stars form; as the rotating spiral 
pattern sweeps around the galaxy, it compresses gas and dust, triggering the formation of bright young stars in its 
form. The elliptical galaxies have a UsymmetricalU elliptical or spherical shape with no obvious structure. Most of 
their member stars are very old, and since ellipticals are devoid of interstellar gas, no new stars are forming in 
them. The biggest and brightest galaxies in the universe are elliptical with masses of about 10 times that of the 
sun; these giants may frequently be sources of strong radio emission, in which case they are called radio galaxies. 
About two-thirds of all galaxies are elliptical. Irregular galaxies comprise about one-tenth of all galaxies and they 
come in many subclasses. 

Measurement in space is quite different from measurement on earth. Some terrestrial distances can be 
expressed as intervals of time: the time to fly from one continent to another or the time it takes to drive to work, 
for example. By comparison with these familiar yardsticks, the distances to the galaxies are incomprehensibly 
large distances that light travels in one year. 

On such a scale, the nearest giant spiral galaxy, the Andromeda galaxy, is two million light years away. The 
most distant luminous objects seen by telescopes are probably ten thousand million light years away. UTheirU light 
was nearly halfway here before the earth was even formed. The light from the nearby Virgo galaxy set out when 
reptiles still dominated the animal world. 
66- What does the second paragraph mainly discuss? 

1) Major categories of galaxies 2) The Milky Way  
3) How elliptical galaxies are formed  4) Differences between irregular and spiral galaxies 

67- According to the passage, new stars are formed in spiral galaxies due to … . 
1) an explosion of gas  2) strong radio emission 
3) the combining of old stars  4) the compression of gas and dust 

68- The underlined word “symmetrical” is closest in meaning to … . 
1) proportionally balanced  2) commonly seen 
3) typically large  4) steadily growing 
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69- According to the passage, which of the following is NOT true of elliptical galaxies? 
1) They are the largest galaxies. 2) They mostly contain old stars. 
3) They contain a large amount of interstellar gas. 4) They may have a spherical shape. 

70- The underlined pronoun “Their” in the last paragraph refers to … . 
1) light years 2) telescopes 3) reptiles 4) luminous objects 
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 (مرجان شيخي) »  -1
 به معني «چه مي شد اگر، ”what if“ و ”supposing” ،“suppose“نكته: 

فرض كن اگر» است و در جملات شرطي به كار مي رود. از آن جايي كه زمان  بند 
جواب شرط آينده در گذشتة كامل است، شرطي نوع سوم بوده و زمان  بند شرط 

   است.(.had + p.p)گذشتة كامل 
----------------------------------------- 

 (مسعود پيربداقي)  -2
» از هيچ يك از ساختارهاي جملات شرطي پيروي 2» و «1نكته: گزينه هاي «
» اگرچه از ساختار شرطي نوع سوم پيروي مي كند، از نظر 3نمي كنند. گزينة «

  زماني با جملة مورد سؤال مطابقت ندارد.
----------------------------------------- 

 (مسعود پيربداقي)  -3
 به معني «مبادا، چنان چه» زمان حال ساده، گذشتة ساده ”in case“نكته: بعد از 

 به كار مي رود.  ”should“يا 
----------------------------------------- 

 (مرجان شيخي) » 3گزينه ي « -4
نكته: زمان فعل در بند جواب شرط، آينده در گذشتة كامل است، در نتيجه جمله 

شرطي نوع سوم است. در اين نوع شرطي، زمان فعل در بند شرط گذشتة كامل 
 با توجه به مفهوم جمله حالت استمرار دارد، ”sleep“است. از آن جايي كه فعل 

  زمان مناسب گذشتة كامل استمراري است.
----------------------------------------- 

 )81(آزاد انساني-   »2گزينه ي « -5
 است، ”had called“ كامل گذشتةبا توجه به اين كه زمان فعل در بند شرط، 

بنابراين جمله، شرطي نوع سوم بوده و در بند جواب شرط به فعل در زمان آينده 
 متعدي است و بعد از ”avoid“در گذشتة كامل نياز است. با توجه به اين كه فعل 

آن در جمله مفعول به كار نرفته است، بنابراين وجه جمله مجهول است كه در 
اين صورت در بند جواب شرط از آينده در گذشتة كامل مجهول 

“might have been avoided” .استفاده مي كنيم  
 براي بيان احتمال انجام كاري در زمان ”.may/might + have +p.p“ از ساختار

  گذشته استفاده مي كنيم.
----------------------------------------- 

 (مسعود پيربداقي) »3گزينه ي « -6
» از هيچ يك از ساختارهاي جملات شرطي پيروي 4» و «2»، «1نكته: گزينه هاي «

 در جملات شرطي نوع دوم براي بيان ”were to“نمي كنند. در ضمن، دقت كنيد كه 
يك موقعيت فرضي به كار مي رود و زمان  بند جواب شرط، آينده در گذشتة ساده است. 

----------------------------------------- 
 (سعيد بابايوسفي) »3گزينه ي « -7

نكته: از آن جايي كه زمان فعل در بند جواب شرط، «آينده در گذشتة ساده» است، جمله 
شرطي نوع دوم بوده و زمان فعل در بند شرط بايد گذشتة ساده باشد. 

----------------------------------------- 
 (مرجان شيخي) »2گزينه ي « -8

 … if“ به معني «مگر اين كه، جز اين كه» معادل ”unless“نكته: حرف ربط 
not” است و زماني كه مي خواهيم بگوييم كاري را انجام نمي دهيم مگر اين كه امر 

ديگري اتفاق بيفتد، از اين حرف ربط استفاده مي كنيم. دقت كنيد چون 
“unless” مفهوم “not” را در خود دارد، فعل بند شرط به صورت مثبت اما بـا 

مفهـوم منفي مي آيد. هنگـام جـايگـزين كـردن آن بـا هـر يك از معادل هاي 
“if” (… , “as/ so long as”, “providing/ provided (that)”) فعل ،

  بند شرط بايد به صورت منفي آورده شود.

 (مرجان شيخي) »4گزينه ي « -9
 در بند شرط جملة مورد سؤال به صورت ”change“نكته: از آن جايي كه فعل 

مثبت به كار رفته است در حالي كه در بند شرط جملة اوليه منفي بوده است، 
 است، صحيح است. ”if not“ به معني «مگر اين كه» كه معادل ”unless“كاربرد 

 تنها بر روي فعل بند شرط تأثير مي گذارد و ”unless“در ضمن، دقت كنيد كه 
 فعل بند جواب شرط بايد به همان صورت كه در جملة اوليه آمده است، به كار رود.

----------------------------------------- 
  (شهراد محجوبي) »1گزينه ي « -10

زمان جملة اصلي گذشته است، بنابراين جملة شرطي كه بر اساس آن ساخته 
مي شود، بايد نوع سوم باشد. درجملات شرطي نوع سوم زمان فعل در بند شرط، 

 و در بند جواب شرط آينده در گذشتة كامل ”hadn’t been“گذشتة كامل
 “would have bought”  .است 

----------------------------------------- 
  (جواد مؤمني) »1گزينه ي « -11

در اين كلاس آموزشي، به مديران جديد آموزش داده مي شود كه  جمله: «ةترجم
» چطور از عهده ي مسائل كاري كه با آن  روبه رو مي شوند، برآيند.

  شامل شدن  )2 آموزش دادن )1
 ) از عهده بر آمدن  4 در برگرفتن، محتوي بودن  )3

----------------------------------------- 
  (ميرحسين زاهدي) »1گزينه ي « -12

تمام صفحات روزنامة امروز به گزارش نتيجة رويداد ديروز در يك  جمله: «ةترجم
» دانشگاه آمريكايي در ويرجينيا اختصاص داده مي شود.

 آزاد كردن )2 بازيافت كردن )1
 ) ضميمه كردن   4 اختصاص دادن )3

----------------------------------------- 
  (رضا كياسالار) »1گزينه ي « -13

فرستادن كودكان به مدارس گران قيمت، هزينة زندگي را براي  جمله: «ةترجم
» خانواده افزايش مي دهد.

 هزينه )2 ميانگين  )1
 نرخ، قيمت ) 4 فعاليت )3

----------------------------------------- 
  (شهاب اناري) »1گزينه ي « -14

تعداد فزاينده اي از دانش پژوهان دختر تمايل دارند تحصيلات خود  جمله: «ةترجم
»  عاليه ادامه دهند.مراتبرا تا 

 فزاينده  )2 علمي )1
) وابسته، پيرو    4 مكرر  )3

----------------------------------------- 
  (علي شكوهي) »1گزينه ي « -15

 غذاها، شما لازم است كه تنوع،  مزه و نيز ارزش غذايي تهيةهنگام  جمله: «ةترجم
» (آن) را در نظر بگيريد.

 تراكم  )2 تنوع  )1
 ) مصلحت   4 ظرفيت  )3

 زبان تخصصيپاسخ   سؤال هاي تستي 
 

 زبان انگليسي تخصصي
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  (عبدالرشيد شفيعي) »1گزينه ي « -16
 به او هشدار داد كه يك رژيم غذايي مناسب در مؤثر بودن دكتر جمله: «ةترجم

» يك درمان از اهميت زيادي برخوردار بود.
) تجربه   2) اجرا، عملكرد  1
 ) مرجع  4) اهميت  3

----------------------------------------- 
  (جواد مؤمني) »1گزينه ي « -17

 بدون اشكال كارخانه ادارةوظيفة اصلي پروژه، ايجاد اطمينان از  جمله: «ةترجم
» است.

) اداره، راه اندازي 2) آموزش، تعليم 1
 ) تعريف  4) بيان، حالت، اصطلاح  3

----------------------------------------- 
  (سپيده عرب) »1گزينه ي « -18

در ايران، دانشجويان دانشگاه بر اساس آزمون ورودي كه هر سال  جمله: «ةترجم
» برگزار مي شود، گزينش مي شوند.

) نقش   2) صحنه   1
 ) اساس، پايه  4) واقعيت  3

----------------------------------------- 
  (علي شكوهي) »1گزينه ي « -19

 گرفتند و توسط پليس ناديدهآن ها علامت «پارك ممنوع» را  جمله: «ةترجم
» جريمه شدند.

) مشاهده كردن  2) توجه كردن 1
 ) ناديده گرفتن  4) بالا بردن  3

----------------------------------------- 
  (رضا كياسالار) »1گزينه ي « -20

ما اصرار داريم كه پدر اتومبيل قديمي اش را عوض كند، اما او  جمله: «ةترجم
» به قدري به آن وابسته شده است كه از آن جدا نمي  شود.

)  “in”) علاقه مند (با حرف اضافة 1
 )  “with”) راضي، خشنود، علاقه مند (با حرف اضافة 2
) “of”) ترسيده (با حرف اضافة 3
 )“to”) شيفته، علاقه مند (با حرف اضافة 4

----------------------------------------- 
  (جواد مؤمني) »1گزينه ي « -21

، دوستانتان اين عمل را به عنوان بمانيدجمله: «در صورتي كه شما ساكت  ةترجم
 نشانه ا ي در نظر خواهند گرفت كه شما با پيشنهاد موافق هستيد.» 

) نمونه  2) الگو  1
 ) انتخاب  4) نشانه  3

----------------------------------------- 
  (شهاب اناري) »1زينه ي « -22

تمام پول هاي جمع آوري  شده صرف اجراي (امور) خيريه به ويژه در  جمله: «ةترجم
» مناطق روستايي خواهد شد.

 خيريه )2 تنوع )1
 غلظت، چگالي ) 4 فعاليت )3

  (عبدالرشيد شفيعي) »1زينه ي « -23
: «شگفت آور است كه مبلغ زيادي پول به اين پروژه اختصاص داده جمله ةترجم

 شده است.» 
“) on) خرج  كردن، گذراندن (با حرف اضافة ”1
 “)to) اختصاص دادن (با حرف اضافة ”2
) گذشتن، گذراندن 3
 ) عبور كردن، قطع كردن  4

----------------------------------------- 
  (ميرحسين زاهدي) »1گزينه ي « -24

جمله: «دانشمندان اظهار اميدواري كرده اند كه بتوانند منبع ديگري براي  ةترجم
  سوخت فسيلي پيدا كنند.» جايانرژي به  

 ) نگران شدن، مربوط شدن  2) بحث كردن  1
 ) ادامه دادن 4) بيان كردن، اظهار كردن  3

----------------------------------------- 
  (ندا باران طلب) »1گزينه ي « -25

: «تعداد زناني كه به شركت در فعاليت هاي اجتماعي تمايل نشان جمله ةترجم
 مي دهند، به طور پيوسته رو به افزايش است.» 

 شركت كردن )2 اتفاق افتادن )1
بلند شدن هواپيما، در آوردن لباس ) 4 مراقبت كردن )3

----------------------------------------- 
 (مسعود پيربداقي)  »1گزينه ي « -26

 به معني «دريافت كردن» متعدي است و چون مفعول ”receive“نكته: فعل 
“public assistance” بعد از آن قرارگرفته، داراي وجه معلوم است. براي كوتاه كردن 

- در وجه معلوم، ضمير موصولي را حذف مي كنيم و فعل را به صورت وصفيجملة پيرو 
ing”مي نويسيم. “دار “poverty” (فقر) اسم است و كاربرد آن قبل از اسم 

“people” .نادرست است “the number of” .با فعل مفرد همراه است 
----------------------------------------- 

 )89 (سراسري منحصراً زبان- »4گزينه ي « -27
» نادرست است. ساختار گزينة 3» و «1 در گزينه هاي «”it“نكته: كاربرد ضمير 

 ”the“ به حرف تعريف معين ”ash tree“» نادرست است، در ضمن قبل از 2«
 نياز داريم.

----------------------------------------- 
  (اميد يعقوبي فرد)»2گزينه ي « -28

نكته: با توجه به اين نكته كه با دو جمله مواجه هستيم، بنابراين به يك ضمير 
موصولي براي ربط دو جمله نياز داريم. در صورتي كه جملة پيرو وصفي در حالت 

 - ”ingمعلوم قرار گيرد، مي توان ضمير موصولي را حذف كرد و فعل را به صورت 
 imaginative“ قبل از اسم يا عبارت اسمي (در اين جا ”such“ به كار برد. “دار

subjects”.به كار مي رود ( 
----------------------------------------- 

  (عليرضا يوسف زاده)»3گزينه ي « -29
 به كار ”to“ فعل به صورت مصدر بدون ”had better“نكته: بعد از عبارت 

 به ”had better“») اشارة زماني 4» و «2مي رود. (دليل نادرستي گزينه هاي «
» از نظر زماني با آن 1 در گزينة «”wouldn’t“حال و آينده است و فعل كمكي 

 مطابقت ندارد.
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 )81 (سراسري منحصراً زبان-  »1گزينه ي « -30
» 3نكته: با توجه به ترتيب صحيح قرارگرفتن صفات قبل از يك اسم، گزينه هاي «

 براي بيان رابطة مالكيت است و معمولاً بين دو ”whose“» نادرست هستند. 4و «
 توجه كنيد. ”be worth sth“اسم قرار مي گيرد. در ضمن به عبارت 

----------------------------------------- 
 اين خبر روزنامه را دربارة تنبيه بدني بيشتر در مدارس پسرانه آياجاستين: بروس، 

 خوانده اي؟
 بروس: آره، نظرت چيست؟ (چه احساسي داري؟)

 جاستين: متعجب و منزجر شده ام.
 بروس: چرا اين را مي گويي؟

جاستين: من فكر مي كنم اين فقط بدرفتاري با پسران خردسال است و اسمش را 
  و تشويق معلمانشان نياز دارند.توجهمي گذارند نظم. افراد خردسال به 

----------------------------------------- 
 )جواد مؤمني ( »1گزينه ي « -31

 ) نظرت چيست؟ (چه احساسي داري؟)1
 ) چرا فكر مي كني؟ (دليل فكركردنت چيست؟)2
 ) معني اش چيست؟3
 ) منظورت كدام است؟4

----------------------------------------- 
 )جواد مؤمني ( »1زينه ي « -32

 ) چرا اين را مي گويي؟ (چطور؟)2) چه كسي گفته است؟ 1
 ) كجا اين را شنيده اي؟4) چطوري است؟، چگونه است؟ 3

----------------------------------------- 
 )جواد مؤمني ( »1گزينه ي « -33

 ) اين به ندرت بدرفتاري كردن است2) اين فقط بدرفتاري است 1
) اين كنترل از دست دادن است 4) اين مراقبت كمتر است 3

----------------------------------------- 
 )جواد مؤمني ( »1گزينه ي « -34

جان: هدية مناسب براي دوستاني كه تو را براي شام به خانه  شان دعوت كرده اند 
  باشد.خوبچيست؟ فكر كردم شايد شكلات 

 ايمي: به نظر خوب مي رسد. يا مي تواني يك دسته گل بخري.
 ) قابل ندارد2) مشخص است، واضح است 1
 ) به نظر خوب مي رسد4) اهميت نمي دهم 3

----------------------------------------- 
 )جواد مؤمني ( »1گزينه ي « -35

A حاضر آمريكا چيست؟حال: نظرت راجع به شرايط اقتصادي  
B مالي و با داشتن چنين دولت فريبكاري، بحران: نمي خواهم بدبين باشم، اما بعد از 

 به ظاهر ديگر اميدي نيست.
 ) سردرآوردن، با خبر بودن2) از شادي بال درآوردن 1
) راست كار كسي بودن 4 اميدي نبودن، كار از كار گذشته بودن) 3

----------------------------------------- 
 )جواد مؤمني ( »1گزينه ي « -36

A.رئيس مان چند كارمند را در حال تقلب سر كار گرفت و در جا آن ها را اخراج كرد : 
B عجيب نيست. مردم به شيوة سران سياسي شان رفتار مي كنند اما كسي اين قدرت را :

  آمريكا را بيرون كند.فاسدنداردكه سياستمداران 
 ) سردرنمي آورم2) عجيب نيست 1
 ) فرصت را غنيمت بشمار4) اين هم از شانس من 3

----------------------------------------- 
A.ما پروژة مان را امروز تحويل داديم : 
B .جداً؟ من حتي يك نگاه به آن نينداختم : 
A.بهتر است كارتان را شروع كنيد. فقط يك هفته مهلت داريد : 
B.بي خيال! به چنين كارهاي احمقانه اي اهميتي نمي دهم : 

----------------------------------------- 
 )جواد مؤمني ( »1گزينه ي « -37

 ) سر و كار داشتن (با)2) تحويل دادن 1
 ) مطرح كردن4) توزيع كردن 3

 )جواد مؤمني ( »1گزينه ي « -38
 ) از كار افتاده بودن، خراب بودن (ماشين يا دستگاه)1
 ) مقرربودن (در زمان خاص)، مهلت داشتن2
 ) بي گناه بودن3
 ) عصباني بودن، كفري بودن4

----------------------------------------- 
A كه اين (راز) را پيش خودت نگه داري. همين الآن پي بردم كه بدهي: بايد قول 

آن ها خودشان رئيس جمهور بعدي آمريكا را بدون در نظر گرفتن رأي هاي ما 
 انتخاب كردند، اما (اين خبر) تا فردا اعلام نخواهد شد.

B.نگران نباش. من بند را آب نمي دهم : 
----------------------------------------- 

 )جواد مؤمني ( »1زينه ي « -39
 ) به حقيقت پيوستن1
 ) به كار خطرناكي دست زدن2
 ) هرگز نااميد نشدن3
 ) رازي را پيش خود نگه داشتن، بازگو نكردن4

----------------------------------------- 
 )جواد مؤمني ( »1زينه ي « -40

 ) تأييد كردن1
 ) ميان بر زدن2
) عصباني شدن، خون (كسي) به جوش آمدن 3
 ) بند را به آب دادن4

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -41

) دانستن 2 ) انتخاب كردن، برداشتن1
) مايل بودن، گرايش داشتن 4) محدود كردن 3

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -42

   است.”if not“ معادل (به معناي «مگر اين كه») ”unless“نكته: 
You won’t arrive in time if you don’t take a taxi. (= …. unless you  
take a taxi.) 

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -43
، جملة شرط، به زمان حال جملة جواب شرط به زمان آينده 1نكته: در شرطي نوع  

  اين شرطي، يك شرطي محتمل در آينده است. است.
If it rains tomorrow, we will cancel the picnic. 

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -44

 تا 2 ميكنيم. دقت كنيد كه گزينههاي «استفاده ”however“براي بيان تضاد از 
   » نميتوانند بين دو ويرگول قرار بگيرند.4

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -45

تر ‌) بزرگ2 ) دورتر1
  ) نزديكتر4) وسيعتر 3

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -46

) هدف 2 ) بلندپروازي1
  ) موضوع4) دليل 3

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -47

) همينطور 2 ) بنابراين1
  ) نسبتاً، در عوض4) صرف نظر از 3
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 )روزبه شهلايي مقدم ( »1زينه ي « -48
    برميگردد.”subject“ به ”which“نكته: ضمير موصولي 

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -49

 يعني «چيزي را وارونه كردن، ”turn something upside down“نكته: اصطلاح 
چيزي را زير و رو كردن». 

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -50

) سوار شدن، راندن 2 ) رانندگي كردن1
  ) هدايت كردن4) دويدن 3

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -51

 “measuring”:وجه وصفي معلوم است. به توضيحات مربوط دقت كنيد  
گويند، ‌ مي(gerund) باشد، به آن اسم مصدر داشته نقش اسمي “ دار”ing–اگر فعل 

 گويند؛ مثال:‌ مي(present participle)ها به آن وجه وصفي معلوم ‌در ساير نقش
  به عنوان فعل استمراري“ دار”ing– فعل )1

 .He is workingاو دارد كار مي كند. 
  در نقش صفت“ دار”ing– فعل )2

 .An exciting showيك نمايش مهيج. 
  در نقش قيد“ دار”ing– فعل )3

 .Watching TV, he fell asleepدر حال تلويزيون ديدن، خوابش برد. 
 

 و به (past participle)به همين ترتيب به قسمت سوم فعل، وجه وصفي مجهول 
having + pp وجه وصفي كامل (perfect participle)شود. ‌ گفته مي 

 توان در موارد زير استفاده كرد:‌ معلوم ميوصفياز وجه 
 هاي يكسان‌زمان با فاعل‌) اشاره به دو عمل هم1

 .I ran out of the house shouting. زدم، از خانه بيرون دويدم‌در حالي كه داد مي
خواند. ‌ نشسته بود و داشت كتاب ميصندلياو روي 

She was sitting in an armchair reading a book. 
كرد، به دستش آسيب زد. ‌وقتي جيم داشت تنيس بازي مي

Playing tennis, Jim hurt his arm. 
 

 تواند در ابتدا يا انتهاي جمله بيايد.‌ها مشخص است، وجه وصفي معلوم مي‌ در مثالكهطور ‌همان
اند. در اين ‌هاي يكسان كه بلافاصله پشت سر هم انجام شده‌ عمل با فاعلدو) اشاره به 2

 شود.‌حالت، عملي كه اول رخ داده به وجه وصفي معلوم تبديل مي
 و يك هفت تير درآورد. كرددر كشو را باز 

Opening the drawer, he took out a revolver. 
كليدي از جيبش درآورد و در را باز نمود. 

Taking a key out of his pocket, he opened the door. 
----------------------------------------- 

 )روزبه شهلايي مقدم ( »1زينه ي « -52
  ) طي2 ) از1
  ) هنوز4كه ‌) وقتي كه، همين3

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -53

) ساختن 2 ) تشكيل شدن از1
  ) به رخ كشيدن4) همراه هم آوردن 3

----------------------------------------- 
 )روزبه شهلايي مقدم ( »1زينه ي « -54

) مانند 2 ) نه تنها1
  ) شامل شده4) تا اين كه 3

 )روزبه شهلايي مقدم ( »1زينه ي « -55
 جزء آن دسته از صفاتي است كه هر دو حالت ممكن براي تبديل به صفات ”common“نكته: 

  نادرست است. ”the“، استفاده از ”our“برتر و برترين را ميپذيرد. دقت كنيد كه با توجه به 
 مثالي ديگر:

Heart attacks are among the commonest (OR most common) 
causes of death for both men and women. 

----------------------------------------- 
  (سپيده پورديهيمي) » 2ي « -56

 در ”Louise Nevelson“ جمله: «طبق متن، چه چيزي مشخصه ي تكنيك ترجمة
دهه ي پنجاه بود؟» 

«او از چيزهايي كه پيدا مي كرد، استفاده مي نمود.» 
----------------------------------------- 

  (سپيده پورديهيمي)  »2گزينه ي « -57
 صحيح است؟» ”Totality Dark“ جمله: «كدام يك از (موارد) زير راجع به ترجمة

«آن، شامل فقط يك جعبة سياه است.» 
----------------------------------------- 

  (سپيده پورديهيمي) » 4گزينه ي « -58
 در سطر شانزدهم كه زير آن خط كشيده شده به ”they“ترجمة جمله: «ضمير 

“pieces” «.اشاره مي كند 
----------------------------------------- 

 (سپيده پورديهيمي)   »4گزينه ي « -59
 (معاصر) در سطر دوم كه زير آن خط ”contemporary“ترجمة جمله: «كلمة 

 (مدرن) دارد.» ”modern“كشيده شده نزديك ترين معني را به 
 (سپيده پورديهيمي)  » 2گزينه ي « -60

 مي كند، زيرا مجسمه هاي ذكر را ”Central Park“ترجمة جمله: «نويسنده 
 بعضي اوقات آن جا هستند.» ”Nevelson“محيطي 

----------------------------------------- 
  (سپيده عرب) » 4زينه ي « -61

ترجمة جمله: «كدام يك از (موارد) زير بهترين عنوان براي متن خواهد بود؟» 
«زندگي وبستر» 

----------------------------------------- 
  (سپيده عرب) » 3گزينه ي « -62

 A Grammatical Institute of the English“ترجمة جمله: «چرا وبستر كتاب 
Language” «را نوشت؟ 

 بريتانيايي براي كودكان آمريكايي مناسب نبودند.» كتاب هاي«او احساس مي كرد كه 
----------------------------------------- 

  (سپيده عرب)  »4گزينه ي « -63
ترجمة جمله: «وبستر از چه كتابي يك درآمد مادام العمر به دست آورد؟» 

»“The American Spelling Book” «
----------------------------------------- 

  (سپيده عرب)  »4گزينه ي « -64
 در پاراگراف دوم كه زير آن خط كشيده شده به ”it“ترجمة جمله: «ضمير 

“dictionary” «.اشاره مي كند 
----------------------------------------- 

  (سپيده عرب) » 3گزينه ي « -65
 (مجزا، متمايز) در پاراگراف دوم كه زير آن خط ”distinct“ترجمة جمله: «كلمة 

 (متفاوت، متمايز) دارد.» ”different“كشيده شده نزديك ترين معني را به 

 وجه وصفي معلوم

 وجه وصفي معلوم

 وجه وصفي معلوم

 وجه وصفي معلوم

 وجه وصفي معلوم

 وجه وصفي معلوم
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 (سپيده پورديهيمي)   »2گزينه ي « -66
ترجمة جمله: «پاراگراف دوم عمدتاً راجع به چه بحث مي كند؟» 

«دسته هاي اصلي كهكشان ها» 
----------------------------------------- 

 (سپيده پورديهيمي)   »4گزينه ي « -67
ترجمة جمله: «طبق متن، ستاره هاي جديد در كهكشان هاي مارپيچي به دليل تراكم گاز 

و گرد و غبار شكل مي گيرند.» 
----------------------------------------- 

 (سپيده پورديهيمي)   »1گزينه ي « -68
 (متقارن) كه زير آن خط كشيده شده ”symmetrical“ترجمة جمله: «كلمة 

 (نسبتاً متوازن، نسبتاً ”proportionally balanced“نزديك ترين معني را به 
متعادل) دارد.» 

----------------------------------------- 
 (سپيده پورديهيمي)  » 3گزينه ي « -69

ترجمة جمله: «طبق متن، كدام يك از (موارد) زير راجع به كهكشان هاي بيضي شكل 
؟» نيستصحيح 

«آن ها محتوي مقدار زيادي گاز ميان ستاره اي هستند.» 
----------------------------------------- 

 (سپيده پورديهيمي)   »4گزينه ي « -70
 آخر كه زير آن خط كشيده شده به پاراگراف در ”Their“ جمله: «ضمير ترجمة

“luminous objects” «.(اجرام درخشان) اشاره مي كند 
----------------------------------------- 
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